£ILE 109 2452 % =23
¥RA B E—RAEEER

i

¥

T IR PR N O i

MM | 55

109-B3



i
e
e
nn\:
NE -

[T 1. 2. 3. 4,

~—
| &
w
-~

EE “) @) @) 2)3) (1)4)5) (1

SEERS | BEE
— ~ EEE
1. 4)

BHE D

(5) X+ 8t A REUHAYER R ELLER A BIRIVEEME » B REHATREE SRR SH
£ A BHREHRET B BHURERHER

& 11

LY A
A% :
At

(3)

R

B 4%
AR

E-ME=F (E% - HERED

BB BAYRR (&

1 M=95 A log E=4.8415M »

15 log E=4.8+1.5x9.5=19.05=19+0.05 » BI& & 19
HItEER E 7 20 A8 > #MUEGd) -

$5HE EE

DB E (SHARE)
P TR RE B/ MERTRE
f)=ax’—2ax+b
=a(x’—2x)+b
=a(x—1Y+b—a
TR BT R R x =1
X f(3)>0 f(H)<0 - #a<0
BIEBR — 1 <Sx<2 BB AMEE f(1)=b—a=8 e o
BINMEE f(—1)=b+3a=4:wveee ®
O - @S a=—1b=7> Bl 2a+b=5
HUIEE(3) o

@)

BHE 5

HR CBETMETE (B dE)

B4R REAERYIHES

By 4 RBER 4 AGIIE Ve - (EH6 3] - L =MEIFR -
O4B2H Q3830 02248 ¥ 6 EFRAME

L. 6! 6 6!
“ !
”ﬁ4!2!+3!3!+2!4!

- ZEE

2)3)
¥BHE T

=15+20+15=50 fEAREMEZE > HEEG) -

A
A%
AT

FMHR=E (HR)
TR - FRAFIER
(1) X+ 3 R EISHEAWERE - 34303

GHe 1
Higerp -3 3 —

¢ 28
2)O : 3 FEERBEEEMER B 140191 &
. CixCixCl _ 9
HR by _—"—c;* o8
() O : 3 EpkEatA =MEY  9EE > EHEE - B RNESE

(1)« Q)Erk > gm0 =189

(@)Xt 3 gEBkTh > ARt A AREA SRR 24 1 AR 1L 23T H TR

CIXCI+ X CIRCIxCE _ 9
c3 14
_— 2 _

9
1
PB| A==
14
HOEQ)Q3) -
. (@)5)
#5E B
Bk B—EE (FHHEARED
B2 FOAFE - trUEHE - EREHE
fEA - FHBRVARE A4
) =("—30)0(x) +(Bx—13)=x(x—3)Q(x) + 3x—13) » HH O(x) R
1) O AE f(0)=—13» # f(x) FrPA x Fygs=R— 13
@)X f(0)=—13<0 f(3)=—4<0»
FrBA f(x)=0 7£ 0 81 3 T A —EHER
3) X 1 f(0)+0=—13<0 f3)+3=—1<0
FiLA f(x)+x=01F 0 81 3 Z A —EFER
@) O f0)+0*=—13<0 f(3)+3*=5>0 >
FBAf(x)+x* =0 7£ 0 2 3 Z VAR
) O  f0)+0°=—13<0 f(3)+3°=23>0 >
FRIAf()+x° =0 7 0 B2 3 Z VA BAR
HUBE(1)E)(5) -
. (1G)
#HE 5
HR BT MENE (BEEST)
B 4% B Py - EAEE - ARIGE - EERES
BT ¢ B X IVETEE Fs ux » BREER R o
Y BT IR py » BREEEE oy
Bl — ?0+72—|—'?54+76+78 —74.5) = 5+o+;1+2+3 _4FR)
X Y Xi— Yi—Hiy (i—pmx)’ i— ) (e — ) (Yi— )
70 5 —4 1 16 1 —4
72 6 —2 2 4 4 —4
74 4 0 0 0 0 0
76 2 -2 4 4 —4
78 3 -1 16 1 —4
#ER0 40 10 —16
(1) O =74 (1)
2) X O'y:\/g =2 >14
. , ~16 —16
(3) X+ X £ Y BAHRR (ks r= g T T 0.8
@)X ox= ? —J8 =242
B SRE mer - O —(—08) - Y2 — o4
Ox 242
HOERRE R RS y—4=(—04)(x—74) = y=33.6—0.4x
65O BEEER TS5 T FEAMEFE KR y=33.6—-0475=3.6 (T&)
HHIEE(1)(5) -



= B
A -2

HHE 5
HR B -MHREFE (FE - HMREO
B A% | IERRBEVIER

k13
i el 32 _ 1

IR 4096:>26"=2"2:>6k=—12:>k=—2°
Xz

15
16
#HEHF
HR C BUME=E (5EHE)
B A2 RAREEENER
A odet ()00 AT VEE ) BB A P=47"4 I A2=1,

—4 k||—4 &k 10 16+16k 0 |10
16 4|16 4 01 0 16k+16 01

HE 16-+16k=1 = k= —% .

5=

K5
HR E=ME=% (FEER)
84% | MERIEES - EREIETIIR

#a#; . OP = OA +10B =(2+4,3t+2)
5Z~5§m@§%%mmwﬁm%%EE%42§M=u%4kﬂ=w
X a=8b> i b=1
NOAP HJTHITE Ky b—— x|

=—x|403t+2)—2Q2t+4) |=—x | 8|=1
2H43HJ| X 4G0+2) = 2020+4) |= 3 X 8

=iz(ﬁ$é‘) ’ ﬁt:Z °
3542

2
#HE
HRESME=E (FEEE)
B A% [AENENER - mEERETIIX
A L EER v =a H 1 +x0=0 01§ n=—a
X QO RWBEERx+y=0L  #y=—x=—a>p=—x=a
At O ~ R WBEAAIEEs Qe ,—a) ~ R(—a, @)

L, 1L,=P0 L PR =PQ - PR =0
=>(a—4,—a—3) - (—a—4,a—3)=0

= —(a—4)(a+4)—(@+3)(a—3)=0=a’= e}

APOR B XI| - _w"’__33’|=%|(a—4)(a—3)—(a+4)(a+3)|
. 535 32
—5 x| —1lda |=7x|a|= 7XE—\/—2_ 3

BEESY | FEIBE

xrpz20
— ITYEY L s P=1250x+ 1100y 5 @S ; ()& x=2 - y=3 85 » FIEATFRRNI TERRD
32y 212
36y =12
BLIF FAS B0 T35 By 5800 7%
WHE B
MR BSIE T ()
BB ¢ LR
x+y20
Wi (RIEEBIF SRR 27 RS P—1250r+ 1100y
2y >12
Ix+6y =12
@)
- /////
N (0,6) /
3x+6y=12-] .I (2 3] /
_
5,0)
0 N
(3) T3 R0 AL, P Y A (A 58 4 7 T { T AR e TR
x,) ©0.6 | @,3 | 5,0
P=1250x+1100y 6600 5800 6250

- 1
=

Bx=2 y=30  SEASFENT TERRD ISR T2 5500 7% -
0 10 0
} ;(2)300%?(3)[ j| ;@)1

1 55 10
BHE T
HR C FEIUMEE =5 (JERE)
BAR | EIEEE N EM

ARHT

Uﬁ%a?%T%[”ﬂ f ﬂ[ﬂ

n+l 11

Q)FTKBNE by » HH()E TS B ﬂ |
S]] - ) -
ze-[ M Jit }

R I A e R P R

WA =RERE % B RENHER 3005 -

10 1 0 10 1 0
(3) P= L J =[21 P3[ } ------ ‘J?&bﬂ%ﬁéﬂ[ J

e T B R e R R e
==l 0w

1B n K(ERETS B iREEE R 100n & > HEEE 100n>1000= 1> 10
Hon B/ MER 11 -




FREEFEEALUR A

SBEERY ¢ FREEE

x> yz20
+y25 )
;Cx_f2y>12 » BfEREE P=1250x+1100y 5 (88 3)E x=2 y=3 8% » A[EATIFENNIE Fi/l
3x+6y =12
IHERE A4S (IR D B Ry 5800 JT
BHE 5

B PTHEE (HGEE)
B AR : AR

xry=20
%*ﬁ— H (l)éil&ﬁguxgﬁ% X -i.}_, > S

3x2y=212
Ixct+6y=12

(443 » BEfEREE P=1250x+1100y - (1 47)

2) Y

3+ 5=
)é%%/ﬁ 34

%
7

y
3x+6y=12 <]

(o]
(3)ETESE AN BAE R P WIR A B S A v TR E AV AL b
(., 0,6) 2,3) (5,0)
P=1250x+1100y 6600 5800 6250 (3
¥ x=2>y=30  FEATFEHNTERRD » LRGN HIR TER 5800 7T © (3 43)
10 10 0
=) [1 J ; (2)300 & ; (3) {55 10} s @4)11
¥HE:H
BRI =R (JEME)
B 4% AEFEER R ER

ﬂﬁ!@ﬁ%ﬁﬂ%ﬁ%rﬁqzr ﬂﬁq’&p
P2

b, 11 11
Q)FFRENE by » HI()A]E:

Bl Go-~() -)
e T RS
o Pl N S e PR

AR = IR 2 1% B IR EMHE R 300 & - (147)
_10,210"3:10, ______ . |10
mP—L J P & 1] P L J AR P L J (2 53)

KPP P o w_[1 0], [t o] [t o 1 0] _[10 o]
Bk P+ P+ P+ +P [ }+[2 J+[3 1]+ J{IO J [55 10} (159
WFTKENE b, »

a,| _ oula| _[L O][100]_[100 ]
a0l e

4RIE n Yo(ERETE B RENVEE R 100n B » HEEE 100n>1000 = 7> 10
B BB/ IME A 11 - (1 93)

— 6 —



